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READ THE FOLLOWING INSTRUCTIONS CAREFULLY BEFORE WRITING ANYTHING ON THIS BOOKLET

1. Before commencing to write anything on this booklet ensure that the Booklet has 120 ques! ons, there is no 

misprin! ng, over prin! ng and/or any other shortcoming in both the Ques! on Booklet and the OMR Answer 

Sheet. If there is any shortcoming, in! mate the same to your room invigilator and get the Booklet changed. 

Only on being fully sa! sfi ed, write your Roll No. etc on the ques! on booklet and on the OMR answer sheet. 

Once the Roll No. has been wri# en on the ques! on booklet and on the OMR answer sheet, it will not be 

exchanged.

 bl iqfLrdk ij dqN Hkh fy[kuk vkjaHk djus ls igys ;g lqfuf'pr dj ysa fd bl iqfLrdk esa 120 ç'u gksa] ç'u 
iqfLrdk vkSj OMR Sheet] nksuksa gh esa eqæ.k dh dksbZ =qfV vkSj/;k vU; dksbZ deh u gksA ;fn dksbZ deh gS] 
rks mldh lwpuk vius d{k fo{kd dks nsa vkSj iqfLrdk cnyok ysaA dsoy iw.kZr% larq"V gksus ij gh ç'u iqfLrdk 
vkSj OMR Sheet ij viuk vuqØekad vkfn fy[ksaA ç'u iqfLrdk vkSj OMR sheet ij ,d ckj vuqØekad 
fy[k fn, tkus ij mUgsa cnyk ugha tk,xkA

2. Mark your answer on the OMR Answer Sheet which is provided separately. Please use Black/Blue ball 

point pen for comple� ng your work on the OMR Answer Sheet.

 ij fn, x, mi;qä LFkkuksa ij viuk vuqØekad] ç'u iqfLrdk la[;k ¼tks bl i`"B ds Åijh nk,a dksus esa nh 
xbZ gS½] ç'u iqfLrdk 'k`a[kyk dksM A] B] C ;k D ¼tks bl i`"B ds Åijh ck,a dksus esa fn;k x;k gS½ fy[ksa vkSj 
mi;qä o`Ùkksa dks dkys@uhys c‚y i‚baV isu ls Hkj nsaA

3. Write your Roll No. Ques! on Booklet No. (as given on the right hand top corner of this page); Ques! on 

Booklet Series Code A, B, C  & D (as given on the le$  hand top corner of this page); at the appropriate places 

provided on the OMR Answer Sheet & shade the appropriate circles with black/blue ball point pen.

 OMR ij fn, x, mi;qä LFkkuksa ij viuk vuqØekad] ç'u iqfLrdk la[;k ¼tks bl i`"B ds Åijh nk,a dksus esa 
nh xbZ gS½] ç'u iqfLrdk 'k`a[kyk dksM A] B] C ;k D ¼tks bl i`"B ds Åijh ck,a dksus esa fn;k x;k gS½ fy[ksa 
vkSj mi;qä o`Ùkksa dks dkys%uhys c‚y i‚baV isu ls Hkj nsaA

4. This is an objec! ve type test. Each objec! ve ques! on is followed by four responses with serial numbers 

a,b,c and d. You have to answer by shading/fi lling with black/blue ball point pen the relevant circle a, b, c or 

d on the OMR Answer Sheet. Mark your answers on the OMR Answer Sheet only. Also see relevant instruc-

! on provided on the OMR Answer Sheet.

 ;g ,d oLrqfu"B ijh{k.k gSA çR;sd oLrqfu"B ç'u ds ckn Øekad a] b] c vkSj d ds lkFk pkj mÙkj fn, x, 
gSaA vkidks OMR Sheet ij lacaf/kr o`Ùk a] b] c ;k d dks dkys%uhys c‚y i‚baV isu ls Hkj dj viuk mÙkj 
nsuk gSA vius mÙkj dsoy OMR Sheet ij gh fpfàr djsaA OMR Sheet ij fn, x, lacaf/kr funsZ'k Hkh ns[ksaA

5. Mark your answer with utmost care. You are not allowed to change the answer, once marked, by adop! ng 

any method (including correc! on fl uid).

 vius mÙkj csgn lko/kkuh ls fpfàr djsaA ,d ckj fpfàr dj nsus ij] vkidks fdlh Hkh fof/k ¼ftlesa djsD'ku 
¶yqbM 'kkfey gS½ ds mi;ksx }kjk mÙkj cnyus dh vuqefr ugha gSA

6. Take care that you mark only one answer for each ques! on. If more than one answer are given by you for 

any ques! on, that answer will be treated as wrong answer.

 /;ku j[ksa fd vki çR;sd ç'u ds fy, dsoy ,d mÙkj fpfàr djsaA ;fn fdlh Hkh ç'u ds fy, vkids }kjk ,d 
ls vf/kd mÙkj fn, tkrs gSa rks ml mÙkj dks xyr mÙkj ekuk tk,xkA
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7. All ques� on are compulsory and carry equal marks. There will be 0.25 nega� ve marking in this test. One (1) 

mark will be awarded for each correct answer. If a candidate gives more than one answer, it will be treated 

as wrong answer. No marks will be awarded or deducted for una! empted ques� ons.

 lHkh ç'u vfuok;Z gSa ,oa leku vad okys gSaA bl ijh{kk esa 0-25 udkjkRed vadu gSA çR;sd lgh mÙkj ds fy, 
nks ¼1½ vad fn;k tk;sxkA ;fn dksbZ vH;FkhZ ,d ls vf/kd mÙkj nsrk gS rks mls xyr mÙkj ekuk tk,xkA ftu 
ç'uksa ds mÙkj ugha fn, x, gSa muds fy, dksbZ vad ugha fn;k tk,xk vkSj u gh dkVk tk,xkA 

8. Use only black/blue ball point pen (not with gel pen) for wri� ng your answers and other details on the 

OMR Answer Sheet.

 OMR Sheet ij vius mÙkj ,oa vU; fooj.k fy[kus ds fy, dsoy dkys/uhys c‚y i‚baV isu dk gh mi;ksx 
djsa ¼tsy isu dk ugha½A

9. DO NOT scribble or do rough work or make any stray marks on the OMR Answer Sheet. DO NOT wrinkle 

or fold or staple it.

 OMR Sheet ij u rks vLi"V ys[ku djsa] u gh dksbZ jQ dk;Z djsa] vkSj u gh b/kj&m/kj fu'kku vkfn yxk,aA 
i=d dks u rks fldksM+sa] u eksM+sa vkSj u gh LVsiy djsaA

10. Use of calculators, slide rules and any other study/references materials is not allowed. Do not bring mobile 

phones, scanning device, pagers or any communica� on device etc. to the examina� on hall.

 dsydqysVj] LykbM:y ,oa vU; v/;;u/lanHkZ lkexzh ds mi;ksx dh vuqefr ugha gSA ijh{kk d{k esa eksckby 
Qksu] Ldsfuax ;a=] istj ;k dksbZ Hkh vU; lapkj ;a= vkfn u yk,aA

11. Rough work is to be done in the blank space (if available ) in the Ques� on Booklet. No other paper will be 

allowed/ provided.

 jQ dk;Z ç'u iqfLrdk esa fjä LFkku ¼;fn miyC/k gks½ esa djsaA vU; fdlh dkxt dh vuqefr ugha gS/vU; dksbZ 
dkxt çnku ugha fd;k tk,xkA

12. Please note that it will be your responsibility to carefully handover your OMR Answer Sheet to the Room 

Invigilator at the end of the examina� on. If your OMR Answer Sheet is found missing, necessary ac� on 

will be taken. You are not allowed to carry the ques� on booklet with yourself a! er examina� on, and the 

same has to be submi" ed to the invigilator a! er examina� on.

 —i;k /;ku nsa fd ijh{kk dh lekfIr ij d{k fo{kd dks viuk OMR Sheet /;kuiwoZd lkSaiuk vkidk 
mÙkjnkf;Ro gksxkA ;fn OMR Sheet xk;c gks tkrk gS rks vko';d dkjZokbZ dh tk,xhA vkidks ijh{kk ds ckn 
ç'u iqfLrdk vius lkFk ys tkus dh vuqefr ugha gS] vkSj bls viuh ijh{kk dh lekfIr ij d{k fo{kd dks çLrqr 
djuk gksxkA

13. Keeping in mind the limited � me allowed for examina� on, candidates should a! empt those ques� ons fi rst 

about which they are sure and then proceed to other ques� ons. This is only an advice to the candidates.

 ijh{kk ds fy, vuqer lhfer le; dks ns[krs gq,] vH;fFkZ;ksa dks lcls igys os ç'u gy djus pkfg, ftuds ckjs 
esa os fuf'pr gSa vkSj mlds ckn vU; ç'uksa dks gy djus dk ç;kl djuk pkfg,A ;g vH;fFkZ;ksa ds fy, dsoy 
,d lykg ek= gSA

14. In case of any discrepancy in ques� ons of English & Hindi version of this booklet, the ques� ons in English 

version will prevail.

 vxj bl iqfLrdk ds vaxzsth vkSj fganh laLdj.k ds fdlh ç'u esa dksbZ varj gksrk gS] rks vaxzsth laLdj.k ds ç'u 
ekU; gksaxsA

                            

DO NOT OPEN THIS BOOKLET UNTIL ASKED TO DO SO
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1) Out of which only one word is spelt correct-

ly_____________

a) Greivance

b) Grievance

c) Griveance

d) Grieveance

Directions (Question no 2 to 3)

2)  Antonyms of Florid?

a) Weak

b) Pale

c) Monotonous

d) Ugly

3)  Antonyms of Repudiate?

a) Preter

b) Unite

c) Explain

d) Accept

4) Fill in the blanks with the appropriate words.

 Countries which _________ still undergoing the 

economic processes _________ known as devel-

oping countries.

a) are, is  b)   are, are

c) is, are  d)   were, are

5) Fill in the blank with suitable preposition in the 

following sentence.

 ____ the two I prefer tea.

a) From

b) In

c) Among

d) Between

GENERAL APTITUDE lkekU; fodYi

Fill in the blank in correct grammatically order 

(Direction 6)

6) Ram, along with the members of the family and 

that of his friend __________ a movie. 

a) Was watching

b) Were watching

c) Have been watching

d) Watch

Choose the suitable word (Direction 7 to 9)

7) One who studies the pattern of voting in an elec-

tion. 

a) Anthropologist

b) Cartographer

c) Lexicographer

d) Psephologist

8) An order requiring a person to attend a court. 

a) Courtship

b) Agreement

c) Subpoena

d) Command

9) One who deserts his principles & party.

a) Apostle

b) Proselyte

c) Renegade

d) Critic

Direction (Question No 10 to Question No 11)

Choose the best alternative

10)  The engineers ____________ this bridge since 

last year.

a) have repaired

b) had repaired

c) have been repairing

d) are repairing
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11) He slipped __________ his old ways and started 

drinking. 

a) off

b) by

c) in

d) into

Directions (Question no 12 to 15)

Idioms & Phrases

12) The offi cials played ducks & drakes with the 

public money. 

a) Spent

b) Presened

c) Collected

d) Squandered

16½ mls <wa<sa tks ml lewg ls lacaf/kr ugha gS\ 

a½ 49  b½  64

c½ 81  d½  100

17½ A, B vkSj C ,d gh le; esa vkSj ,d leku fn'kk 
esa ,d xksykdkj LVsfM;e ds pkjksa vksj nkSM+uk 'kq: 
djrs gSaA lHkh ,d gh fcanq ls 'kq#vkr djrs gS tgk¡ 
A] 252 lsdsaM] B ] 308 lsdsaM vkSj C] 198 lsdaM 
esa ,d pDdj iwjk djrs gSA rks fdrus le; ckn os 
'kq#vkrh fcanq ij nksckjk feysaxs\

a½ 26 feuV  18 lsdsaM 

b½ 42 feuV  36 lsdsaM 

c½ 46 feuV 12 lsdsaM 

d½ 45 feuV

18½ fuEufyf[kr esa ls dkSu lcls vf/kd xq.kd nsus 
okyh la[;k gS\

a½ 176 b½ 101

c½ 99 d½ 182

19½  jke ds ikl ,d daVsuj gS ftlesa 'kjkc vkSj ikuh 
dk feJ.k gSA 'kjkc vkSj ikuh dk vuqikr 4% 1 gSaA 
jke dh xyrh ls dqN feJ.k ckgj QSy tkrk gSA 
fQj og [kkyh txg dks ikuh dh mlh ek=k ls cny 
nsrk gSA ysfdu vc 'kjkc vkSj ikuh dk vuqikr 
3% 2 gks x;k gS A jke us fdruk ikuh Mkyk\

a½ 3@5

b½ 2@7

c½ 1@4

d½ 1@3

13)  Let sleeping dogs lie.

a) Dogs can raise tempers

b) Do not allow dogs to stand

c) Prevent dog mobility

d) Do not bring up an old controversial issue.

14)  John is highly qualifi ed for the job but his in de-

cisiveness will be his Achilles heel.

a) Downfall

b) Vulnerable point

c) Main Setback

d) Strength

15) I will carry out your orders to the letter.

a) In writing

b) Literally & Strictly

c) Forever

d) Certainly

16) Find the one which does not belong to that group?

a½ 49  b½  64

c½ 81  d½  100

17) A, B and C start at the same time in the same di-

rection to run around a circular stadium. A com-

pletes a round in 252 seconds, B in 308 seconds 

and C in 198 seconds, all starting at the same 

point. After what time will they meet again at the 

starting point?

a) 26 min 18 sec

b) 42 min 36 sec

c) 46 min 12 sec

d) 45 min

18) Which of the following has the most number of 

divisors?

a½ 176 b½ 101

c½ 99 d½ 182

19) Ram has a container which has a mixture of wine 

and water in it. Wine and water are in the ratio 

4:1. Ram spills some of the mixture by accident. 

He then replaces the spilled amount with water of 

same quantity. But now the wine to water ratio 

became 3:2. How much water did Ram add?

a) 3/5

b) 2/7

c) 1/4

d) 1/3
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20) A is inversely proportional to the cube of B if A = 

3 then B = 2 but if A = 8/9 then B = ?

a) 27

b) 24

c) 3

d) 2

21) If 40% of a number is equal to two-third of anoth-

er number, what is the ratio of fi rst number to the 

second number?

a) 7:3

b) 2:5

c) 3:7

d) 5:3

22) The average temp from Monday to Wednesday 

is 37°C while the average tem from Tuesday to 

Thursday is 34°C the temp of Thursday is 4/5 

times that of Monday. Find the temperature of 

Thursday?

a) 36°C

b)  34°C

c) 45°C

d) 35°C 

23) Two candles of the same height are lighted at the 

same time. The fi rst is consumed in 7 hours and 

second is consumed in 4 hours. Assuming that 

each candle burns at a constant rate, in how many 

hours, after being lighted was the fi rst candle four 

times the height of second?

a) 3 hr

b) 3 hr 20 min

c) 3 hr 50 min

d) 3 hr 30 min

24) A large cube is formed from the material obtained 

by melting three smaller cubes of 3, 4 and 5 cm 

side. What is the ratio of the total surface areas of 

the smaller cubes and the large cube?

a½  27% 20   b½ 25% 18

c½  3% 2  d½ 2% 1

25) If P²+4Q² = 4PQ then P:Q = ?

a) 2:1

b) 1:2

c) 3:4

d) 5:6

20½ A, B ?ku ds foijhr :i ls lekuqikfrd gS ;fn 
A ¾ 3, B ¾ 2 gS ysfdu ;fn A ¾ 8/9 rks B¾\ 

a½ 27

b½ 24

c½ 3

d½ 2

21½ ;fn la[;k dk 40% fdlh vU; uacj ds 
nks&frgkbZ ds cjkcj gS] rks igys uacj dk 
vuqikr nwljs uacj ds fy, D;k gS\

a½ 7%3

b½  2%5

c½  3%7

d½  5%3

22½ lkseokj ls cq/kokj dk vkSlr rkieku 37ºC gS 
tcfd eaxyokj ls ohjokj dk vkSlr rkieku 
34ºC gSA ;fn ohjokj dk rkieku lkseokj ds 
rkieku ds 4/5 xq.kk gS ohjokj dk rkieku Kkr 
djs\

a½  36ºC

b½  34ºC

c½  45ºC

d½  35ºC

23½ leku Å¡pkbZ okys nks eksecfÙk;ksa dks ,d gh 
le; esa tyk;k tkrk gSAigyk 7 ?kaVs esa vkSj 
nwljk 4 ?kaVks esa tyrk gSA eku ysa fd çR;sd 
eksecÙkh fLFkj :i ls tyrh gS rks fdrus ?kaVs 
esa igyh eksecÙkh tyus ds ckn nwljh eksecÙkh 
ds pkj xq.kk Åaph Fkh \

a½  3 ?kaVs 

b½  3 ?kaVs 20 feuV

c½  3 ?kaVs 50 feuV

d½  3 ?kaVs 30 feuV

24½ 3] 4 vkSj 5 lseh ds rhu NksVs ?kui{kksa ds 
fi?kyus ls çkIr inkFkZ ls ,d cM+k ?ku curk 
gSA NksVs ?kuks vkSj cM+s ?ku ds dqy lrg {ks=ksa 
dk vuqikr D;k gS\

a½  27% 20   b½ 25% 18

c½  3% 2  d½ 2% 1

25½ ;fn P²+4Q² = 4PQ rks P:Q = \

a½ 2%1

b½ 1%2

c½ 3%4

d½ 5%6
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26) A man has some hens and cows. If the number of 

heads be 48 and the number of feet equals 140, 

then the number of hens will be:

a) 26

b) 22

c) 25

d) 24

27) Which temple has the longest corridor in India?

a) Brihadeeswarar Temple

b) Ramanathaswamy Temple

c) Kapaleeshwarar Temple

d) Meenakshi Sundareswarar

28) An industrial loom weaves 0.128 metres of cloth 

every second. Approximately, how many seconds 

will it take for the loom to weave 25 metre of cloth?

a) 196 seconds

b) 195 seconds

c) 197 seconds

d) 194 seconds

29) In a hostel, Food was available for 2000 students 

for 54 days, but after 15 days more students joined 

hostel and food lasts only for 20 more days. De-

termine how many students came in hostel ?

a½ 1700  b½ 1650

c½ 1900  d½ 2100

30) Laxmi goes 6 km towards South-East from her 

offi ce.Then she goes 15 km turning to West. After 

this she goes 6 km towards North-West and in the 

end she goes 11 km towards East. How far is she 

from her offi ce ?

a) 10 km

b) 4 km

c) 6 km

d) 11 km

31) If A lends Rs.3500 to B at 10% per annum and B 

lends the same sum to C at 11.5% per annum then 

the gain of B in a period of 3 years is?

a) Rs.107.50

b) Rs.115.50

c) Rs.177.50

d) Rs.157.50

26½ ,d vkneh ds ikl dqN eqfxZ;ka vkSj xk;sa  gSA 
;fn fljksa dh la[;k 48 vkSj iSjksa  dh la[;k 
140 ds cjkcj gks] rks eqfxZ;ksa dh la[;k gksxh%

a½ 26

b½ 22

c½ 25

d½ 24

27½ Hkkjr esa fdl eafnj dk lcls yack xfy;kjk gS\

a½ c`gns'koj  eafnj

b½ jkeukFkLokeh eafnj

c½ diys'oj eafnj

d½ ehuk{kh lqanjs'oj

28½ ,d vkS|ksfxd gFkdj?kk çfr lsdaM 0-128 ehVj 
diM+k cqurk gSA rks 25 ehVj diM+k cquus esa 
gFkdj?kk dks yxHkx fdrus lsdaM yxsaxs\

a½ 196 lsdaM

b½ 195 lsdaM

c½ 197 lsdaM

d½ 194 lsdaM

29½ ,d Nk=kokl esa] 2000 Nk=ksa ds fy, 54 fnuksa 
ds fy, Hkkstu miyC/k Fkk] ysfdu 15 fnuksa ds 
ckn vkSj Nk= Nk=kokl esa 'kkfey gks x, vkSj 
Hkkstu dsoy 20 fnuksa ds fy, cpk FkkA rks ;g 
fu/kkZfjr djsa fd Nk=kokl esa fdrus Nk= vk,\

a½ 1700  b½ 1650

c½ 1900  d½ 2100

30½ y{eh vius dk;kZy; ls nf{k.k&iwoZ dh rjQ 6 
fdeh vkxs c<+rh gSaA fQj og 15 fdyksehVj dh nwjh 
ij if'pe dh vksj eqM+ tkrh gSA blds ckn og 
mÙkj&if'pe dh vksj 6 fdeh vkxs c<+rh gS vkSj var 
esa og iwoZ dh vksj 11 fdeh nwj tkrh gSA og vius 
dk;kZy; ls fdruh nwj gS\

a½ 10 fdeh 

b½ 4 fdeh 

c½ 6 fdeh 

d½ 11 fdeh

31½ ;fn A 10 çfr'kr dh okf"kZd nj ls B dks 3500 
:i;s m/kkj nsrk gS vkSj B mlh jkf'k dks 11-5 
çfr'kr dh okf"kZd  nj ls C dks m/kkj nsrk gS rks 
3 o"kksaZ esa B dk ykHk gksxk\ 

aaaaaaaaaaaaaaa½  107-50 :i;s

b½  115-50 :i;s

c½  177-50 :i;s

d½  157-50 :i;s
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32) Rs.4500 amounts to Rs.5544 in two years at com-

pound interest, compounded annually. If the rate 

of the interest for the fi rst year is 12%, fi nd the 

rate of interest for the second year?

a) 20%

b) 10%

c) 15%

d) 12%

33) 10 books are placed at random in a shelf. The 

probability that a pair of books will always be to-

gether is _____.

a) 1/5

b) 9/10

c) 3/10

d) 1/3

34) A box contains 3 blue marbles, 4 red, 6 green mar-

bles and 2 yellow marbles. If three marbles are 

drawn what is the probability that one is yellow 

and two are red?

a) 15/91

b) 3/91

c) 12/455

d) None of these

35) A man can row three-quarters of a kilometre 

against the stream in 45/4 minutes and down the 

stream in 15/2 minutes. The speed (in km/hr) of 

the man in still water is:

a½ 4 b½ 3

c½ 5 d½ 2

 Please answers the below mentioned question on 

the basis of given chart (Question 36 to 39 )

 In Given chart, Number of males and females 

who read different types of magazines and dif-

ferent age groups

A
g
e g

ro
u

p
 in

 y
ea

r

Magazines read Total sample 
surveyed in-
cluding non 
readers

Sports Film Both

M
a
le

F
em

a
le

M
a
le

F
em

a
le

M
a
le

F
em

a
le

M
a
le

F
em

a
le

10-15 40 30 30 20 10 15 100 120

16-35 160 120 180 100 80 65 240 150

36-60 50 40 40 50 30 20 200 430

32½ pØo`f) C;kt ij nks lky esa 4500 #i;s çfro"kZ 
la;kstu ij  5544 #i;s  gks tkrk gS ;fn igys 
o"kZ ds fy, C;kt nj 12% gS] rks nwljs o"kZ ds 
fy, C;kt nj Kkr djsa\

a½   20%

b½   10%

c½   15%

d½   12%

33½ 'ksYQ esa ;kn`fPNd :i ls 10 fdrkcsa j[kh tkrh 
gSaA laHkkouk gS fd iqLrdksa dh ,d tksM+h ges'kk 
,d lkFk gksxh 

a½  1@5

b½  9@10

c½  3@10

d½  1@3

34½ ,d ckWDl esa 3 uhys iRFkj] 4 yky] 6 gjs iRFkj 
vkSj 2 ihys iRFkj gSaA ;fn rhu iRFkj [khaps 
fy, tkrs gSa rks D;k laHkkouk gS fd mlesa ,d 
ihyk gS vkSj nks yky gSa\

a½ 15@91

b½ 3@91

c½ 12@455

d½ bues ls dksbZ ugha

35½ ,d vkneh /kkjk ds fo#) 45@4 feuV esa ,d 
fdyksehVj ds rhu&pkSFkkbZ Hkkx vkSj 15@2 
feuV esa /kkjk ds rjQ foIyo dj ldrk gSA 
fLFkj ikuh esa vkneh dh xfr ¼fdeh@?kaVk½ gS\

a½ 4 b½ 3

c½ 5 d½ 2

 uhps nh x;h rkfydk ds vk/kkj ij uhps fn, ç'uksa 
dk mÙkj nsa ¼iz'u 36 ls 39½

 fofHkUu if=dk vkSj fofHkUu mez lewgksa ds iq#"kksa vkSj 
efgykvksa dh la[;k uhps rkfydk esa nh x;h gS&

m
ez l

ewg ¼o"kZ es½a

if=dk i<+us okys ugh i<+us 
okys lfgr 
losZf{kr 
dqy uewus

[ksy  fQYe nksuksa

iq#
"k

efgy
k,a

iq#
"k

efgy
k,a

iq#
"k

efgy
k,a

iq#
"k

efgy
k,a

10-15 40 30 30 20 10 15 100 120

16-35 160 120 180 100 80 65 240 150

36-60 50 40 40 50 30 20 200 430
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36) The number of people who read at least one type 

of magazine and are over 35 years in age.

 a) 36  b) 130

 c) 230  d) 180

37) The number of people in the age group 10-15 who 

reads only one type of magazines is 

 a) 25  b) 70

 c) 95  d) 120

38) The number of females in the age group of 16-35 

who do not read sports magazines is 

 a) 120  b) 90

 c) 60  d) 30

39) The number of males in the age group 16-35 

who do not read fi lm magazines is

 a) 60  b) 80

 c) 140  d) 190

40) Pick Odd one out

a) FBI

b) QMT

c) VRY

d) HEK

41) If Z = 52 and ACT = 48, then BAT will be equal to

a) 46

b) 44

c) 48

d) 41

42) On which day in April is Gautam's birthday ?  

I. Gautam was born exactly 28 years after his 

mother was born. 

II. His mother will be 55 years 4 months and 5 

days on August 18 this year.

a) If the data either in I or II alone are suffi cient 

to answer the question

b) If the data in statement II alone are suffi cient 

answer the question

c) If the data in both the statements together are 

needed.

d) If the data in statement I alone are suffi cient 

to answer the question

36½ de ls de ,d rjg dh if=dk i<+us okyksa dh 
la[;k tks 35 o"kZ dh mez ds gS%&

 a½ 36  b½ 130

 c½ 230  d½ 180

37½ 10&15 mez lewg ds yksxksa dh la[;k tks flQZ 
,d çdkj ds if=dk i<+rs gS%&

 a½ 25  b½ 70

 c½ 95  d½ 120

38½ 16&35 mez lewg dh efgykvksa dh la[;k tks 
[ksy if=dk ugh i<+rh%&

 aa½ 120  b½ 90

 c½ 60  d½ 30

39½ 16&35 mez lewg ds iq#"kksa dh la[;k tks fQYeh 
if=dk ugh i<+rs gS%&

 a½ 60  b½ 80

 c½ 140  d½ 190

40½ fdlh ,d csesy dks pqus&

a½ FBI

b½ QMT

c½ VRY

d½ HEK

41½ ;fn Z ¾ 52 vkSj ACT ¾ 48] rc BAT 
cjkcj gksxk &

a½ 46

b½ 44

c½ 48

d½ 41

42½ vçSy esa fdl fnu xkSre dk tUefnu gS\

I xkSre dk tUe mldh eka ds tUe ds Bhd 28 
lky ckn gqvk FkkA

II  bl lky 18 vxLr dks mldh eka 55 lky 4 
eghus vkSj 5 fnu gks tk;sxhA

a½ ;fn I ;k ii esa fn, vkadM+s vdsys  ç'u dk mÙkj 
nsus ds fy, i;kZIr gS

b½ ;fn  dFku ii esa fn, x, vkadM+s vdsys ç'u 
dk mÙkj nsus ds fy, i;kZIr gS

c½ nksuksa dFkuks esa fn, x, vkadM+s dh ,d lkFk 
vko';drk gSA 

d½ ;fn vdsys dFku I esa fn, x, vkadM+s ç'u dk 
mÙkj nsus ds fy, i;kZIr gSA
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43) A 400 m long train takes 36 sec to cross a man 

walking at 20 km/hr in the direction opposite 

to that of train. What is the speed of train?

a) 20 Km/hr

b) 30 Km/hr

c) 15 Km/hr

d) 11 Km/hr

44) Sum of HCF & LCM of 2 no's is 403 & 

LCM is 12 times their HCF. If one no is 

93, find another no?

a) 115

b) 122

c) 124

d) 138

45) There are seven persons P, Q, R, S, T, U and V 

up on a ladder (not in this order).P is further up 

than T but is lower than R. Q is in the middle. V 

is between P and Q. T is between Q and U. If U is 

between T and S, the person on the bottom step of 

the ladder will be ?

 a) S  b)   U

 c) R  d)   T

46) 1.Water boils at 100 degree C

 2.Water freezes at 0 degree C

 Conclusion: At low pressure ,water boils at lower 

temperature

 The conclusion drawn is:

a) True

b) False

c) Either probably true or probably false

d) Irrelevant

47) Average of 4 person A,B,C,D is 40 Kg if E is 

included then average of A,B,C,D,E is 41 kg if 

A is replaced by F then average of B,C,D,E,F 

is 45 kg. Find the average of B,C,D,F ?

a) 50

b) 30

c) 65

d) 45

43½ ,d 400 ehVj yach Vªsu Vªsu ds foijhr fn'kk esa 
20 fdeh@?kaVk ij pyus okys O;fä dks ikj djus 
ds fy, 36 lsdaM ysrh gSA Vªsu dh xfr D;k gS\

a½ 20 fdeh @ ?kaVk

b½ 30 fdeh @ ?kaVk

c½ 15 fdeh @ ?kaVk

d½ 11 fdeh @ ?kaVk

44½ 2 la[;kvksa dh HCF o LCM  ds tksM+ 403 
gS vkSj LCM muds HCF ds 12 xq.kk gSA;fn 
,d la[;k 93 gS rks nwljh la[;k Kkr djs&

a½ 115 

b½ 122

c½ 124

d½ 138

45½ ,d lh<+h ¼bl Øe esa ugha½ ij P, Q, R, S, 
T, U vkSj V lkr O;fä gSaA .P] T ls vkxs gS 
ysfdu R ls uhps gSA Q e/; esa gSA V] P vkSj 
Q ds chp gSA T] Q vkSj U ds chp gSA ;fn 
U T vkSj S ds chp gS rks lh<+h ds fupys pj.k 
ij cSBk O;fä gksxk\

 a) S  b)   U

 c) R  d)   T

46½ 1- 100 fMxzh rkieku ij ikuh mcyrk gS 

    2- ikuh 0 fMxzh rkieku ij te tkrk gS

 fu"d"kZ% de ncko ij] ikuh de rkieku ij 
mcyrk  g S

 çkIr fu"d"kZ gS%

a½ lR; 

b½ vlR; 

c½ ;k rks 'kk;n lR;  ;k 'kk;n vlR; 

d½ vlaxr

47½ 4 O;fä A,B,C,D dk vkSlr 40 fdyks gS 
;fn E 'kkfey gksrk gS rks A,B,C,D,E dk vkSlr 
41 fdyksxzke gks tkrk gS ;fn A dks F }kjk 
çfrLFkkfir fd;k tkrk gS rks B,C,D,E,F 45 fdyks 
gSA B,C,D,F dk vkSlr fudkysa\

a.  50

b. 30

c. 65

d. 45
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48) Grass : Erosion :: Dam : ?

a) Rain

b) Freeze

c) Current

d) Water

49) ‘BE' is related to ‘FI' and ‘LO' is related to ‘PS' in 

the same way as ‘RU' is related to ______

a) VY

b) VZ

c) WZ

d) VX

50) Which number replaces ‘x' in the below fig-

ure ?

a) 9

b) 2

c) 11

d) 12

48½ ?kkl% {kj.k% cka/k% \

a½ ckfj'k

b½ teuk 

c½  /kkjk 

d½  ty

49½ ‘BE' ‘FI' ls lacaf/kr gS vkSj ‘LO' ‘PS' ls 
lacaf/kr gS tSls ‘RU' ls lacaf/kr gS------

a) VY

b) VZ

c) WZ

d) VX

50½ fuEu la[;k esa dkSu lk uacj ̂x* dks izfrLFkkfir 
djrk gS\

a) 9

b) 2

c) 11

d) 12
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51. The right sequence of steps in Kurt Lewin’s 

change procedure is

a)  Unfreezing – Moving – Freezing

b)  Moving – Unfreezing – Freezing

c)  Unfreezing – Freezing – Moving

d)  Freezing – Moving – Unfreezing

52. The system of supervision, in which the 

supervisor has wide powers and no consultation 

with subordinates, is known as

a) Democratic supervision

b) Free rein supervision

c) Authoritarian supervision

d) Participative supervision

53. Which of the following is not a function of the 

supervisor?

a) Preparing managers training schedule

b) Scheduling activities

c) Controlling

d) Instructing and guiding

54. According to Pfi ffner which one of the following 

is not a type to staff?

a) General

b) Specialist

c) Technical

d) Auxiliary

55. The law of substitution has no place when the 

resources are

a) Limited

b) Unlimited

c) Constant

d) None of these

56. Job analysis includes

a) Job description and job enlargement

b) Job enlargement and job enrichment

c) Job description and job specifi cation

d) All of the above

57. The following is (are) the key components of a 

business process Re-engineering programme?

a) Product development

b) Service delivery

c) Customer satisfaction

d) All of the above

51- dVZ ysfou dh ifjorZu çfØ;k esa pj.kksa dk lgh 
vuqØe gS

a) vuÝhÇtx & ewÇox & ÝhÇtx

b)  ewÇox & vuÝhÇtx & ÝhÇtx

c)  vuÝhÇtx & ÝhÇtx & ewÇox

d) ÝhÇtx & ewÇox & vuÝhÇtx

52- lqijfot+u dh ç.kkyh] ftlesa lqijokbtj ds ikl 
O;kid 'kfä;ka gSa vkSj ftuesa vèkhuLFkksa ds lkFk 
dksÃ ijke'kZ ugÈ gS] ------------- ds :i esa tkuk tkrk gS

a) yksdrkaf=d lqijfot+u

b) fu%'kqYd yxke lqijfot+u

c) lÙkkoknh lqijfot+u

d) lgHkkxh lqijfot+u

53- fuEu esa ls dkSu lk dk;Z lqijokbtj dk ugÈ gS\

a) çcaèkdksa dks izf'k{k.k vuqlwph rS;kj djuk

b) fu/kkZfjr xfrfofèk;ka

c) fu;a=.k

d) funsZ'k vkSj ekxZn'kZd

54-  Pfi ffner ds vuqlkj] fuEu esa ls dkSu lk ,d çdkj 
dk LVkQ ugÈ gS\

a) lkekU;

b) fo'ks"kK 

c) rduhdh

d) lgk;d

55- çfrLFkkiu ds dkuwu esa dksÃ txg ugÈ gS tc 
lalkèku -------------------------- gSa

a) lhfer

b) vlhfer

c) yxkrkj

d) buesa ls dksÃ ugÈ

56- ukSdjh fo'ys"k.k esa 'kkfey gS

a) ukSdjh dk fooj.k vkSj foLrkj

b) ukSdjh esa bt+kQ+k vkSj jkstxkj laoèkZu

c) ukSdjh fooj.k vkSj ukSdjh fofunsZ'k

d) mijksä lHkh

57- O;olk; çfØ;k ds iqu% bathfu;Çjx dk;ZØe ds 
çeq[k ?kVd fuEufyf[kr gSa\

a)  mRikn fodkl

b)  lsok forj.k

c)  xzkgd larqf"V

d) mijksä lHkh

HUMAN RESOURCE ekuo lalk/ku
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58. The amount suffi cient to enable a worker to 

live in reasonable comfort, having regard to all 

obligations to which an average worker would 

ordinarily be subject to

a) Minimum wage

b) Fair wage

c) Living wage

d) Nominal wage

59. Technique of drawing conclusions from a 

candidate’s handwriting about future performance 

in a role

a) Graphology

b) Physiognomy

c) Phrenology

d) Astronomy

60. The following is (are) concerned with developing 

a pool of candidates in line with the human 

resources plan

a) Development

b) Training

c) Recruitment

d) All of the above

61. The three important components in aligning 

business strategy with HR practice:

a) Business Strategy, Human Resource 

Practices, Organisational Capabilities

b) Marketing Strategy, Human Resource 

Practices, Organisational Capabilities

c) Business Strategy, Human Resource 

Practices, Organisational structure

d) Marketing Strategy, Human Resource 

Practices, Organisational structure

62. Which of the following is the correct sequence of 

training evaluation

a) Reaction, learning, behavior and result

b) Learning, Reaction,  behavior and result

c) Learning, behavior ,Reaction and result

d) Reaction, learning, result and behavior

58- ,d dk;ZdrkZ dks nh tkus okyh og i;kZIr jkf'k 
ftlls dh og vkjke ls jgus ds fy, l{ke gks ] 
vkSj mu lHkh nkf;Roksa ds lacaèk esa tks ,d vkSlr 
dk;ZdrkZ ds lkeka;r% vèkhu fd;k tk,xk

aa) U;wure etnwjh

b) mfpr etnwjh

c) thfor etnwjh

d) ukeek= etnwjh

59- ,d Hkwfedk esa Hkfo"; ds izn'kZu ds ckjs esa ,d 
mEehnokj ds fy[kkoV ls fu”d”kZ fudkyus dh 
rduhd

a) fyfi foKku

b) QhfloXukseh

c) ¶+jsu‚y‚th

d) [kxksy 'kkL=

60- Çuufyf[kr ¼dj jgs gSa½ ekuo lalkèku ;kstuk ds 
lkFk ykbu esa maehnokjksa dh ,d iwy ds fodkl ds 
lkFk lEcafèkr gSa% 

a) fodkl

b) çf'k{k.k

c) HkrhZ

d) mijksä lHkh

61- ekuo lalkèku çpyu ds lkFk lajsf[kr O;kikj 
j.kuhfr esa rhu egRoiw.kZ ?kVd%

a) O;kikj j.kuhfr] ekuo lalkèku  çpyu] 
laxBukRed {kerk

b) foi.ku j.kuhfr] ekuo lalkèku çpyu] 
laxBukRed {kerk

c) O;kikj j.kuhfr] ekuo lalkèku çpyu] 
laxBukRed lajpuk

d) foi.ku j.kuhfr] ekuo lalkèku çpyu] 
laxBukRed lajpuk

62- fuEufyf[kr esa ls dkSulk izf'k{k.k ewY;kadu dk 
lgh vuqØe gS

a)  çfrfØ;k] f'k{kk] O;ogkj vkSj ifj.kke

b)- lh[kuk] çfrfØ;k]  O;ogkj vkSj ifj.kke

c) lh[kuk] O;ogkj] çfrfØ;k vkSj ifj.kke

d) çfrfØ;k] lh[kuk] ifj.kke vkSj O;ogkj
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63. Which of the following aptly describes the role 

of line managers and staff advisors, namely HR 

professionals?

a) Staff advisors focus more on developing 

HR programmes while line managers are 

more involved in the implementation of 

those programmes.

b) Line managers are concerned more about 

developing HR programmes whereas staff 

advisors are more involved in implementing 

such programmes.

c) Staff advisors are solely responsible for 

developing, implementing and evaluating 

the HR programmes while line managers 

are not all involved in any matters 

concerning HR.

d) Line managers alone are responsible for 

developing, implementing and evaluating the 

HR programmes while staff advisors are not 

all involved in any matters concerning HR.

64. Statutory minimum wage is fi xed under

a) Payment of Wages Act 1936

b) Equal Remuneration Act, 1976

c) Worker’s Compensation Act, 1923

d) Minimum Wage Act, 1948

65. Which of the following is not a part of job 

analysis?

a) Defi ning uses of job analysis

b) Collecting information for job analysis

c) Processing information for job analysis

d) Determining relative worth of job

66. Process which begins when one party perceives 

that other has frustrated, or is about to frustrate, 

some concern of his, is known as

a) Confl ict

b) Risk

c) Uncertainty

d) Poor management

67. Which of these is an off-the-job training 

method?

a) Simulation

b) Job rotation

c) Orientation training

d) Coaching

63- fuEu esa ls dkSu lk ykbu çcaèkdksa vkSj deZpkfj;ksa 
ds lykgdkjksa] vFkkZr~ ekuo lalkèku is'ksojksa dh 
Hkwfedk dk mi;qä o.kZu djrk gS\

a)a LVkQ lykgdkj ,pvkj dk;ZØeksa ds fodkl 
ij vfèkd è;ku dsafær djrs gSa tcfd ykbu 
çcaèkd mu dk;ZØeksa ds dk;kZUo;u esa vfèkd 
'kkfey gksrs gSaA

b) ykbu çcaèkd ekuo lalkèku dk;ZØe fodflr 
djus ds ckjs esa vfèkd 'kkfey gSa] tcfd LVkQ 
lykgdkj bl rjg ds dk;ZØeksa dks ykxw 
djus esa vfèkd 'kkfey gSaA

c) LVkQ lykgdkj iwjh rjg ls fodflr] ykxw 
djus vkSj ekuo lalkèku dk;ZØeksa dk ewY;kadu 
djus ds fy, ÇtEesnkj gSa tcfd ykbu çcaèkd 
fdlh Hkh ekuo lalkèku ls lacafèkr ekeyksa esa 
'kkfey ugÈ gSaA

d) vdsys ykbu çcaèkd ekuo lalkèku dk;ZØeksa 
ds fodkl] ykxw djus vkSj dk ewY;kadu ds 
fy, ÇtEesnkj gSa tcfd LVkQ lykgdkj 
fdlh Hkh ekuo lalkèku ls lacafèkr ekeyksa esa 
'kkfey ugÈ gSaA

64- oSèkkfud U;wure etnwjh ………ds rgr r; dh 
tkrh gS

a) Hkqxrku etnwjh vfèkfu;e 1936

b) leku ikfjJfed vfèkfu;e] 1976

c) Jfed eqvkotk vfèkfu;e] 1923

d) U;wure osru vfèkfu;e] 1948

65- fuEufyf[kr esa ls dkSu lk ukSdjh fo'ys"k.k dk 
fgLlk ugÈ gS\

a) ukSdjh fo'ys"k.k ds mi;ksx dks ifjHkkf”kr djuk

b) ukSdjh fo'ys"k.k ds fy, tkudkjh ,df=r djuk

c) ukSdjh fo'ys"k.k ds fy, tkudkjh çkslsl djuk

d) ukSdjh ds lkis{k ewY; fuèkkZfjr djuk

66- og çfØ;k tks 'kq: gksrh gS tc ,d ikVÊ ekurh gS 
fd og fujk'k gS] ;k grk'k gksus okyh gS] dqN Çprk 
dk fo”k; gS] mls dgrs gSa 

a) la?k"kZ

b) tksf[ke

c) vfuf'prrk

d) [kjkc çcaèku

67- buesa ls dkSulk ,d v‚Q&n&t‚c izf'k{k.k i)fr gS\

a)  fleqys'ku

b)  ukSdjh jksVs’ku

c)  vfHkfoU;kl izf'k{k.k

d)  dksÇpx



HR/B/15

4001/07

68. An employee terminated due to Alcoholism, 

Dishonesty or ineffi ciency is called as

a)  Discharge

b)  Dismissal

c)  suspend

d)  layoff

69. Standard Performance – Actual Performance = 

Training & Development _________

a)  Objective

b)  Drawback

c)  Motive

d)  Need

70. Sensitivity training is also known as

a) X-group training

b) Y- group training

c) T-group training

d) Core group training

71. Which one of the following is NOT the 

characteristics of a Virtual Team?

a)  Lack of nonverbal signals

b)  limited social contact

c)  increased social relationship

d)  ability to overcome time and space 

constraints

72. The process of comparing work and service 

methods against the best practices and outcomes 

in industry is known as

a) Benchmarking

b) Kaizen

c) Quality circles

d) None of these

73. Grievance handling machinery is given in

a) Industrial Dispute Act

b) Factories Act

c) Both ‘A’ and ‘B’

d) None of these

74.  Which one part of performance is measured?

a) Trait

b) Behavior

c) Outcome

d) All of these

68- ,d deZpkjh 'kjkc] csÃekuh ;k v{kerk ds dkj.k 
fudkys tkus ij dgk tkrk gS

a) eqfDr

b)  c[kkZLrxh

c)  fuyafcr

d) NVuh

69- ekud izn'kZu & okLrfod izn'kZu ¾ izf'k{k.k vkSj 
fodkl &&&&&&&&&

a)  mís';

b)  nks"k

c)  dkj.k

d) vko';drk

70- laosnu'khyrk izf'k{k.k dks Hkh tkuk tkrk gS

a) X&xzqi izf'k{k.k

b) Y&xzqi izf'k{k.k

c) T&xzqi çf'k{k.k

d) dksj xzqi çf'k{k.k

71- fuEufyf[kr esa ls dkSu lk vkHkklh Vksyh dh 
fo'ks"krk,a ugÈ gS\

a) ekSf[kd ladsrksa dh deh

b) lhfer lkekftd laidZ

c) lkekftd lacaèk esa o`f)

d) le; vkSj LFkku dh deh dks nwj djus dh 
{kerk

72- m|ksx esa loksZÙke çFkkvksa vkSj ifj.kkeksa dks dke vkSj 
lsok fofèk;ksa dh rqyuk dks tkuk tkrk gS

a) csapekÉdx

b) dkbt+u

c) xq.koÙkk lÆdy

d) buesa ls dksÃ ugÈ

73- f'kdk;r gSaMÇyx dk mYys[k fdlesa gS

a) vkS|ksfxd fookn vfèkfu;e

b) dkj[kkuksa dk vfèkfu;e

c) nksuksa *,* vkSj *ch*

d) buesa ls dksÃ ugÈ

74- çn'kZu dk dkSu lk ,d Hkkx ekik tkrk gS\

a) fo'ks"krk

b) O;ogkj

c) ifj.kke

d) ;s lHkh
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75. Who has given ‘expectancy theory of 

Motivation’?

a) Maslow

b) Victor Vroom

c) Herzberg

d) Clayton adler

76. ‘Unemployment allowances’ payable is stated in

a) Employee State Insurance Act, 1948

b) Unorganized sector workers social security 

act, 2005

c) Factories act,1948

d) None of these

77. There is no need to make any new appointment’; 

therefore, the organisation has transferred 

Mr. Jaison to another branch. This step of the 

organisation is taken to:

a)  Increase the labour supply than demand.

b)  Maintain the balance of labour supply and 

demand

c)  Decrease the labour supply than demand

d)  Devastate the balance of labour supply and 

demand

78. The human relation theory does not lay 

emphasis on

1. Principle

2. People

3. Human motivation

4. Informal group Function

a) Only 1

b) 1 and 2

c) 1,2 and 3

d) All of these

79. “Increased output per unit of human effort 

through the use of right method, right tool and 

right procedure” refer to which of the following 

theory/approach

a) Human relation approach

b) Scientifi c management approach

c) Classical approach

d) Bureaucratic approach

80. The management of personnel is called

a) Staffi ng

b) Controlling

c) Co-ordination

d) communication

75- çsj.kk ds çR;k'kk fl)kar* fdlus fn;k gS\

a) eLykso

b) foDVj o:e

c) gt+ZcxZ

d) DysVu ,Myj

76- ns; *csjkstxkjh HkÙks* buesa ls fdlesa dfFkr gSa

a) deZpkjh jkT; chek vfèkfu;e] 1948

b) vlaxfBr {ks= ds Jfed lkekftd lqj{kk 
vfèkfu;e] 2005

c) dkj[kkuksa ds vfèkfu;e] 1948

d) buesa ls dksÃ ugÈ

77- ^dksÃ uÃ fu;qfä djus dh t:jr ugÈ gS *( blfy, 
laxBu us Jh tSlu dk rcknyk dj fn;k gS A 
laxBu ds bl dne dks fy;k tkrk gS ftlls%

a) ekax ls Je vkiwÆr esa o`f) gks A-

b)  Je vkiwÆr vkSj ekax ds chp larqyu cuk jgs

c)  ekax ls yscj lIykÃ esa deh gks

d)  Je vkiwÆr vkSj ekax dk larqyu gks

78- ekuo lacaèk fl)kar buesa ls fdl ij t+ksj ugÈ 
nsrs gSa

1. fl)kar

2- yksx

3- ekuo çsj.kk

4- vukSipkfjd lewg lekjksg

a) dsoy 1

b) 1 vkSj 2

c) 1]2 vkSj 3

d) ;s lHkh

79- Þlgh fofèk] lgh midj.k vkSj lgh çfØ;k ds 
mi;ksx ds ekè;e ls ekuo ç;kl ds çfr ;wfuV 
mRiknu esa o`f) gqÃÞ fuEufyf[kr fdl fl)kar dks 
n'kkZrh gS

a) ekuo lacaèk n`f"Vdks.k

b) oSKkfud çcaèku n`f"Vdks.k

c) 'kkL=h; n`f"Vdks.k

d) ukSdj'kkgh n`f"Vdks.k

80- deZpkfj;ksa ds çcaèku dks D;k cqyk;k tkrk gS

a) LVkÇQx

b) fu;a=.k

c) leUo;

d) lapkj
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81. The term ‘B’ of the ‘POSDCORB’ denotes

a) Budgeting

b) Behavior

c) Benefi ts

d) Bureaucracy

82. A test conducted to ensure the biological fi tness 

of an individual by identifying the presence 

of any inherited diseases like diabetes, heart 

diseases, neurological disorders etc, is termed as:

a)  In basket Technique

b)  Physical Examination

c)  Interview simulations

d)  Case study

83. Comparison of employees’ actual performance 

with set standards is involved in

a) leading

b) organizing

c) controlling

d) staffi ng

84. The characteristics of management are

a) All organized

b) Pre-determined

c) Distinct process

d) All the above

85. An assistance needs to manage localized human 

resources which are provided by

a) Transactional HR group

b) Embedded HR group

c) Corporate HR group

d) Centers of expertise

86. Which of the following may be termed as a 

scientifi c and systematic effort to modify the 

characteristics of an employee’s job?

a) Job redesign

b) Job enlargement

c) Job enrichment

d) Job description

87. Which of the following are the operative 

functions of human resource management?

a) Organizing

b) Directing

c) Coordination

d) All of these

81- *POSDCORB* 'kCn esa *ch* dk vFkZ gS

a) ctV

b) O;ogkj

c) ykHk

d) ukSdj'kkgh

82- eèkqesg] fny ds jksxksa] Luk;fod fodkjksa vkfn 
dh rjg fdlh Hkh fojklr esa feyh chekfj;ksa dh 
mifLFkfr dh igpku djds ,d O;fä dh tSfod 
fQVusl lqfuf'pr djus ds fy, vk;ksftr ijh{k.k] 
dks fuEu esa ls fdl :i esa fd;k tkrk gS%

a) ckLdsV rduhd esa

b)  Hkwfedk fuHkkuk

c)  baVjO;w fleqys'ku

d)  dsl LVMh

83- deZpkfj;ksa dh rqyuk *lsV ekudksa ds lkFk okLrfod 
izn'kZu* buesa ls fdlesa 'kkfey gS

a) yhÇMx

b) vk;kstu

c) fu;a=.k

d) LVkÇQx

84- fuEu esa ls D;k çcaèku dh fo'ks"krk,a gSa

a) lc dqN laxfBr gksuk  

b) iwoZ fuèkkZfjr gksuk  

c) vyx çfØ;k gksuk  

d) mijksä lHkh

85- ,d lgk;d dks LFkkuh;—r ekuo lalkèkuksa dk 
çcaèku djus fuEu ds }kjk çnku fd;k tkrk gS

a) ysunsu ,pvkj lewg

b) ,EcsMsM ,pvkj lewg

c) d‚iksZjsV ,pvkj lewg

d) fo'ks"kKrk ds dsaæ

86- fuEufyf[kr esa ls fdls ,d oSKkfud vkSj O;ofLFkr 
ç;kl ds :i esa ,d deZpkjh dh ukSdjh dh fo'ks"krkvksa 
dks la'kksfèkr djus ds fy, ç;ksx fd;k tk ldrk gS\

a) ukSdjh fQj ls fMtkbu djuk

b) ukSdjh bt+kQ+k

c)- jkstxkj laoèkZu

d) ukSdjh fooj.k

87- fuEu esa ls dkSu ekuo lalkèku çcaèku ds v‚ijsfVo 
dk;Z gSa\

a) vk;kstu

b) funsZ'ku

c) leUo;

d) ;s lHkh
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88. Use of data, facts, analytics and evaluated 

research for making decision is

a) Evidence based HRM

b) High performance work system

c) Both A and B

d) none of above

89. Which of the following is required to accomplish 

organizational goal?

a) Employee commitment

b) Employee Co-ordination

c) Feedback on performance

d) All of the above

90. The management should redress only those 

grievance that are

a) Real

b) Imaginary

c) Both

d) None of these

91. Planned Development Programmes will return 

values to the organization in terms of

a) Increased productivity

b) Reduced costs

c) High morale

d) All of these

92. The horizontal expansion of job is termed as

a) Job enlargement 

b) Job enrichment 

c) Job involvement

d) Job enhancement

93. Which of the following is not a fringe benefi t?

a) Transportation facility

b) Subsidized canteen facility

c) Free education for children

d) Dearness allowances

94. Flow of communication in case of line functions 

is generally  

a) Upward

b) Horizontal

c) Downward

d) Diagonal

88- fu.kZ; ysus ds fy, MsVk] rF;] fo'ysf"kdh vkSj 
ewY;kadu vuqlaèkku dk mi;ksx fuEu esa ls D;k gS\ 

a) lk{; vkèkkfjr ,pvkj,e

b) mPp izn'kZu dk;Z ç.kkyh

c) A vkSj B nksuksa

d) mijksä esa ls dksÃ ugÈ

89- laxBukRed y{; dks iwjk djus ds fy, fuEu esa ls 
dkSu lk vko';d gS\

a) deZpkjh çfrc)rk

b) deZpkjh leUo;

c) izn'kZu ij izfrfØ;k

d) mijksDr lHkh

90- çcaèku dks dsoy mu f'kdk;rksa dk fucVkjk djuk 
pkfg, tks fuEu esa ls D;k gks\ 

a) vlyh

b) dkYifud

c) nksuksa

d) buesa ls dksÃ ugÈ

91- fu;ksftr fodkl dk;ZØeksa ds lanHkZ esa laxBu dks 
D;k okilh gksxh

a) mRikndrk esa o`f)

b) de ykxr

c) mPp eukscy

d) ;s lHkh

92- ukSdjh ds {kSfrt foLrkj ds :i esa ……. gS

a) ukSdjh bt+kQ+k

b) jkstxkj laoèkZu

c) ukSdjh dh Hkkxhnkjh

d) ukSdjh esa o`f)

93- buesa ls dkSu lk ÇÝt ykHk ugÈ gS\

a) ifjogu lqfoèkk

b) lfClMkbt+ dSaVhu lqfoèkk

c) cPpksa ds fy, fu%'kqYd f'k{kk

d) egaxkÃ HkÙkk

94- ykbu dk;ks± ds ekeys esa lapkj ds çokg vke rkSj 
ij ...................... gks ldrk gS

a) Åij

b) {kSfrt

c) uhps

d. fod.kZ



HR/B/19

4001/07

95. Which of the following managerial functions 

contribute to human resource management?

a) Recruitment and selection

b) Performance management, training and 

development

c) Retention, industrial relations

d) All of the above

96. ...........……..is the policy of handling worker’s 

grievances

a) Closed door policy

b) Open door policy

c) Selective method policy

d) None of these

97. Which of the methods can be used to make future 

manpower forecast

a) Expert opinion

b) Trend analysis

c) Workload method

d) All of the above

98. Handling labor relations and safety laws for 

company’s labor is part of

a) Line functions

b) Staff functions

c) Coordinative functions

d) Both (a) and (c)

99. Which test assesses an individual’s achievement 

and motivational levels?

a)  Guilford - Zimmerman Temperament 

Survey

b)  Minnesota Multiphasic Personality

c)  Thurstone Temperament Survey

d)  Thematic Apperception Test

100. In __________ the interviewer uses pre-set 

standardised questions which are put to all 

applicants.

a)  Unstructured interview

b)  Behavioural interview

c)  Structured interview

d)  Mixed interview

101. Stephen Knauf defi ned HRA as “the measurement 

&________of Human organisational inputs such as 

recruitment, training experience & commitment

a) Quantifi cation

b) Accounting

c) Development

d) None of the above

95- fuEufyf[kr çcaèkdh; dk;Z fdl ekuo lalkèku 
çcaèku esa ;ksxnku djrs gSa\

a) HkrÊ vkSj p;u

b) çn'kZu çcaèku] izf'k{k.k vkSj fodkl

c) çfrèkkj.k] vkS|ksfxd lacaèk

d) mijksä lHkh

96- ------------------------ dk;ZdrkZ dh f'kdk;rksa dks laHkkyus 
dh uhfr gS

a) can njoktk uhfr

b) [kqyk njoktk uhfr

c) p;fur fofèk uhfr

d) buesa ls dksÃ ugÈ

97- Hkkoh tu'kfä dk iwokZuqeku yxkus ds fy, fdu 
fofèk;ksa dk ç;ksx fd;k tk ldrk gS

a) ,DliVZ dh jk;

b) ço`fÙk fo'ys"k.k

c) dk;ZHkkj fofèk

d) mijksä lHkh

98- Je lacaèkksa vkSj daiuh ds Je ds fy, lqj{kk dkuwu 
gSaMÇyx fuEu esa ls fdldk fgLlk gSa

a) ykbu dk;ks±

b) deZpkjh dk;Z

c) leao; dk;Z

d) nksuksa ¼a) vkSj ¼c)

99- dkSu lk ijh{k.k ,d O;fä dh miyfCèk vkSj çsjd 
Lrj dk vkdyu gS\

a)  fxyQksMZ & ft+eeZu VsEijkesaV losZ

b)  feuslksVk eYVhQsfld O;fäRo

c)  FkLVZu LoHkko losZ{k.k

d)  FkheSfVd viifjiDo VsLV

100- ------------------------ esa baVjO;wvj lHkh vkosndksa dks iwoZ 
fuèkkZfjr ekudh—r ç'uksa dk mi;ksx djrk gS 

a) vuLVªDpMZ baVjO;w

b) O;ogkfjd baVjO;w

c) lajfpr baVjO;w

d) fefJr baVjO;w

101- LVhQu ukSQ+ us ,pvkj, dks ekuo laxBukRed buiqV 
ds eki vkSj ----------------------- ds :i esa ifjHkkf”kr fd;k 
tSls fd fjØwVesaV] izf'k{k.k vuqHko vkSj opuc)rk

a) ;ksX;rk

b) vd‚maÇVx

c) fodkl

d) mijksä esa ls dksÃ ugÈ
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102. Which of the following is the most democratic 

form of the organization?

a) Line

b) Line and staff

c) Functional

d) Committee

103. A line agency should not have

a) Advisory & coordinating function

b) Operating unit

c) Independent staff

d) None of these

104. A retrenchment strategy is used to reduce

a) Technical losses

b) Financial losses

c) The scale and scope of business operation

d) All of the above

105. Principles of training evaluation are

a) Clarity

b) Reliability

c) Validity

d) All of these

106. Off the job training is

a) learning at the workplace

b) Coaching

c) Mentoring

d) imparted away from the workplace

107. Criticism of training are based on the 

understanding that

a) It is challenging method of learning

b) It is linked with short term goal

c) It is not linked by trade unions

d) All of the above

108. Task analysis is the component of

a) Selection procedure

b) human resource planning

c) training process

d) none of these

109. Apprenticeship training is a type of

a) on the job training

b) off the job training

c) both ‘a’ and ‘b’

d) none of these

102- fuEu esa ls dkSu laxBu dk lcls yksdrkaf=d :i gS\

a) ykbu

b) ykbu vkSj LVkQ

c) dk;kZRed

d) lfefr

103- ,d ykbu ,tsalh ds ikl D;k ugÈ gksuk pkfg,

a) lykgdkj vkSj leao; lekjksg

b) v‚ijsÇVx bdkÃ

c) Lora= LVkQ

d) buesa ls dksÃ ugÈ

104- ,d fjVªsapesaV j.kuhfr dks de djus ds fy, ç;ksx 
fd;k tkrk gS

a) rduhdh uqdlku

b) foÙkh; ?kkVk

c) O;olk; lapkyu dk iSekuk vkSj dk;Z{ks=

d) mijksä lHkh

105- çf'k{k.k ewY;kadu ds fl)kar gSa

a) Li"Vrk

b) fo'oluh;rk

c) oSèkrk

d) ;s lHkh

106- v‚Q n t‚c dk izf'k{k.k fn;k tkrk gS

a) dk;ZLFky ij lh[kuk

b) dksfpax

c) lykg

d) dk;ZLFky ls nwj

107- çf'k{k.k dh vkykspuk bl le> ij vkèkkfjr gksrh gS fd

a) ;g pqukSrhiw.kZ lh[kus dh fofèk gS

b) ;g vYikofèk y{; ds lkFk tqM+k gqvk gS

c) ;g VªsM ;wfu;uksa ls ugÈ tqM+k gS

d) mijksä lHkh

108- dk;Z fo'ys"k.k fuEu esa ls fdldk ?kVd gS

a) p;u çfØ;k

b) ekuo lalkèku ;kstuk

c) çf'k{k.k çfØ;k

d) buesa ls dksÃ ugÈ

109- vijsafVlf'ki izf'k{k.k ,d çdkj dk ------------------- gS

a) v‚u n t‚c VªsÇux

b) v‚Q n t‚c VªsÇux

c) nksuksa *aa* vkSj *b*

d) buesa ls dksÃ ugÈ
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110. During which of the following stage, the fi rm 

plans the proposed changes into practice.

a) Clarifi cation

b) Monitoring

c) Assessment

d) Design

111. Which of the following is the most signifi cant 

determinant of quality of work life?

a) Career achievement

b) Career satisfaction

c) Career balance

d) All of these

112. The best and benefi cial view of the fi rm is one 

that believes the key human resources are

a) The employees, not the members of the 

trade unions

b) Knowledge workers

c) Used to create new capabilities that help to 

achieve organisational success

d) Those willing to work overtime

113. When workers are encouraged to meet the 

relevant manager in his offi ce and to share their 

opinion, it is called

a) An opinion survey

b) The gripe-box system

c) The open door policy

d) The exit interview method

114. A distinction can be made between hard and soft 

types of HRM. Soft HRM can be characterized by

a) Seeing people as organizational assets

b) A quantitative approach to HRM

c) A mutual commitment of employees and 

employers to the goals of the organization

d) Being driven by costs

115. The presence of grievances among employees 

may cause

a) Indiscipline among them

b) Strain on the labor-management relations

c) A decline in the employees performance 

and productivity

d) All of the above

110- fuEufyf[kr esa ls fdl pj.k ds nkSjku QeZ esa 
çLrkfor ifjorZuksa dks O;ogkj esa yk;k tkrk gS A-

a) Li"Vhdj.k

b) fuxjkuh

c) ewY;kadu

d) fMt+kbu

111- fuEu esa ls dkSulk dk;Z thou dh xq.koÙkk dk lcls 
egÙoiw.kZ fuèkkZjd gS\

a) dSfj;j dh miyfCèk

b) dSfj;j larqf"V

c) dSfj;j larqyu

d) ;s lHkh

112- QeZ dk lcls vPNk vkSj ykHkdkjh fopkj tks ekurk 
gS fd çeq[k ekuo lalkèku gSa

a) deZpkjh] VªsM ;wfu;uksa ds lnL; ugÈ

b) Kku Jfed

c) uÃ {kerkvksa dks cukus ds fy, bLrseky gksrs 
gSa ftlls fd laxBukRed lQyrk çkIr djus 
esa enn feyrh gS

d) os vksojVkbe dke djus dks rS;kj gksrs gSa

113- tc Jfedksa dks vius dk;kZy; esa lacafèkr çcaèkd 
ls feyus vkSj mudh jk; lk>k djus ds fy, 
çksRlkfgr fd;k tkrk gS] ;g dgk tkrk gS

a) ,d tuer losZ{k.k

b) fxzi&c‚Dl flLVe

c) vksiu Mksj uhfr

d) fudkl baVjO;w  fofèk

114- ,pvkj,e ds dfBu vkSj uje çdkjksa ds chp ,d Hksn fd;k 
tk ldrk gSA l‚¶V HRM dh fo’ks”krk gks ldrh gS

a) yksxksa dks laxBukRed laifÙk ds :i esa ns[kuk

b) HRM ds fy, ,d ek=kRed n`f"Vdks.k

c) deZpkfj;ksa vkSj fu;ksäkvksa dh vkilh çfrc)
rk laxBu ds y{;ksa ds çfr

d) ykxr ls lapkfyr fd;k tk jgk gS

115- deZpkfj;ksa ds chp f'kdk;rksa dh mifLFkfr dkj.k 
gks ldrk gS

a) muds chp vuq'kklughurk

b) Je&çcaèku lacaèkksa esa ruko

c) deZpkfj;ksa ds izn'kZu vkSj mRikndrk esa fxjkoV

d) mijksä lHkh
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116. The role of the organisation in career planning 

is to introduce & strengthen systems to ensure 

________ of employees

a) Career progression

b) Self development

c) Economical Development

d) Skill enhancement

117. Training and development helps to achieve

a) Personal goals

b) Group goals

c) Organizational goals

d) All of these

118. Assertion (A): Industrial Labour in India has 

been migratory.

     Reason (R): Driving force in migration comes 

almost entirely from one end of the channel, that 

is the village end.

a)  Both (A) and (R) are wrong.

b)  (A) is wrong and (R) is right.

c)  (A) is right and (R) also is right.

d)  (A) is right and (R) is wrong.

119. The difference between the line and staff units is

a) Marginal

b) Qualitative

c) Quantitative

d) None of these

120. Staff explosion refers to explosion of people 

manning the function. This is also known as

a) The service effect

b) The governmental effect

c) The Parkinson law

d) The creep effect

116- dSfj;j fu;kstu esa laxBu dh Hkwfedk deZpkfj;ksa 
dh -------------------------- lqfuf'pr djus ds fy, vkSj 
etcwr ç.kkyh ykxw djuk gS

a) dSfj;j dh çxfr

b) vkRe fodkl

c) vkÆFkd fodkl

d) dkS'ky laoèkZu

117- izf'k{k.k vkSj fodkl ------------------------ çkIr djus esa 
enn djrk gS

a) O;fäxr y{;ksa

b) lkewfgd y{;ksa

c) laxBukRed y{;ksa

d) ;s lHkh

118- iqf"V ¼A)% Hkkjr esa vkS|ksfxd Je çoklh gS 

 dkj.k ¼R½% çokl esa cy pSuy ds ,d Nksj ls yxHkx 
iwjh rjg ls vkrk gS] tks dh  xkao dk var gS

a) nksuksa ¼A) vkSj ¼R½ xyr gSa

b)  ¼A) xyr gS vkSj ¼R½ lgh gS

c)  ¼A) lgh gS vkSj ¼R½ Hkh lgh gS

d) (A) lgh gS vkSj ¼R½ xyr gS

119- ykbu vkSj LVkQ bdkb;ksa ds chp varj -------------- gS

a) lhekar

b) xq.kkRed

c) ek=kRed

d) buesa ls dksÃ ugÈ

120- LVkQ foLQksV lekjksg yksxksa ds foLQksV djus dks 
lanÆHkr djrk gSA bls-------- Hkh dgk tkrk gS

a) lsok çHkko

b) ljdkjh çHkko

c) ikÉdlal dkuwu

d) Øhi çHkko


